a e
= =
TER M3 s E

E% A-”_?_—_'L 2 o e P ll::IH:FX
mo ap woy | - = 7IRE -

2023 98 6¥¢
: 0|00

m HS FT 2FH 2F2 64 REHS 55300 @ 263-7167 A 263-7657

2023stE & 25H7| 1K} DA 2™ U Al HE

HESHY L TIE?
Ene MR SHAMAEDIE|R|A 9 ARt 20238 EE stuatd MR e 0| oAt 287 1k TAME Cf
=1t 20| 2F5taA LCh LHES =HQIStA| R sl E0| BIH0| H=Hoz g & URE Xz FEC=FL
1. 28t7| 1A} DA Y™ Gl A|ZtE
108 1M1¥=) 108 12¥¢(8) 108 13¢(2) uT
1Al | 2mA] | 3:A] | 1Al | 2mA] | 3RA] | 1Al | 21mA] | 314 @S+
b A2](1,3)
2std | X Ny =y B0 | o A2 N =1 =g =0 X+g atst =
35}t SA2)
(DA 2E2 2™ YH oA, =HE = ASLICL =8 Al A AUisHASL L)
X 0|2 417 7|2k 2023'H 108 239 (E)~2023H 108 25%(F)
¥ DALZ|ZE 8L oje] 418 7|12t melMiFEEs EHOIAE AM X))
X A At 29 A
- B Al &R £ u] 31
= 7o = 2 wArrE AAESE J/FE A olA}SF HTH
= = AE 25 02:40 | 08:50 | 5 % A TR
==Z7 WiE 08:55 | 0900 | = wAlE=s =x5E2)7F gde= ®= ==
1 A
s g 09:00 | 09:45 | Hekxjel E/FIE ZH= AP U=
=== vjF2 D9:55 10:00 | 2= wmAF= =iz} gie= =|& x|
2 oAl
B7F =8 10:00 | 10:45 | Eek=lel =XRlE 24 AR sis
=== == 10:55 11:00 | 2F= @il =807} gin= x| &=,
3 WA
=7 T1=8 11:00 | 11:45 | Ze=Rl SA5FI= 2 BAEFT ol

X YHEB75E 0|4, 3857
& o] X



2. 28t7]| 1k} DAL AIE o

20238HA T 28H7| 1X}DAL A|EHQ
=l

Hahd - 531 HAL 102 1M1Y%()~102 132(a)
T 4 = 3 Alg el

1= p14 -~ p93

1 =0 25t p14 ~ pB87
35t p1i4 -~ p103

i p82 -~ po99

2 B 25H pe -~ p129
2 po1l ~ pi29
1= B p142 ~ p185

’ - =9 ATES
2544 2 p111 ~ pi61

=9 HSEA
35 M2 = g1y

=9 HZEA

18H3-Al=] pi26 -~ p163

4 AtE] « FAL 25y o) p136 ~ p177
35t -ALS p1iz -~ pé69

123 p126 ~ p189

5 L =y 2= pis0 -~ p234
Fni p160 ~ p 223




